
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van exponenten (negatieve exponenten)

(−7) + (−2) =2 (−7) + (−10) =

(−10) + (−2) =2 10 + 9 =

3 − (−9) = 4 − (−2) =(−2)

4 − 8 =2 6 − (−3) =2

(−7) + 9 =(−1) (−10) + (−1) =(−2)

2 + 9 =(−1) 8 + 8 =(−2)

4 + 10 =2 8 − (−10) =(−1)

2 − 5 = 6 + 9 =(−1)

(−8) + 3 =(−1) (−10) + 6 =(−2)

(−7) − 1 =0 2 + 4 =
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van exponenten (negatieve exponenten)

(−7) + (−2) = 472 (−7) + (−10) = (−17)

(−10) + (−2) = 982 10 + 9 = 19

3 − (−9) = 12 4 − (−2) = = 2(−2)

16
33

16
1

4 − 8 = 82 6 − (−3) = 392

(−7) + 9 = = 8(−1)

7
62

7
6

(−10) + (−1) = (− )(−2)

100
99

2 + 9 = = 9(−1)

2
19

2
1

8 + 8 = = 8(−2)

64
513

64
1

4 + 10 = 262 8 − (−10) = = 10(−1)

8
81

8
1

2 − 5 = (−3) 6 + 9 = = 9(−1)

6
55

6
1

(−8) + 3 = = 2(−1)

8
23

8
7

(−10) + 6 = = 6(−2)

100
601

100
1

(−7) − 1 = 00 2 + 4 = 6
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